LIVING SPACES

MARTINIQUE OUTDOOR CHAISE LOUNGE
16L067A-KD

267647 Assembly Instruction
Parts List: Hardware List:
REF. DESCRIPTION IMAGE Q TY REF. DESCRIPTION Q TY
A Left Armrest ) A 1 059 | Bolt(1/4™35MM) 8
B Right Armrest _ 1 058 | Bolt(1/4"*30MM) % 2
c Base ' : 1 052 | Lock Washer(1/4") @ 8
D Back . 1 053 Washer(1/4") \ ) 12
E cushion @ 1 054 Nut(1/4") ._ 1\] °
Plastic 0
F backpad @ 1 080 Washor1/4” @ 2
050 | Allen Wrench(1/4") | [~ 1
051 Allen Wrench ( — 1

Diagram:







